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1. *Saving energy and other resources for 1. ‘adumE # SEEEI & @t =1 9famm g
the future without sacrificing people’s %m:lﬁfm% I%'Q3;m3'i T =4 aﬁ‘,!mm:i“
comfort in the present’ is the definition e’ = 83 9 A -1 A4 = gl
of which of the following concepts ? 27
(a) Economic growth (@) = 2!2
(b} Economic development (b)
(c) Sustainable development Ac) Trameiig fa=wE
(d) Human development (d) qr:{aféa:m
2. World Population Day is observed on 2. v s T SATE1 8
(@) 11 July (b) 8 May (a) 11 qmﬁaﬁ (oY Bﬂiaﬁ
(c) 5 Jdune (d) 16 October 1) 5 dj 16 T3¢ i
3. Whighths ol es the povasiveates3 ﬁmﬁmiﬁaﬁa mﬁmi@mm
line o dndia ? fn FEM e ? |
(2a) fCentral Councirorfiinisters (a) W % \/J
(b) fEok Sabha S — (b) « =% AWT r LS
(C) pmiayaSabha I : el el W
o (c) r=a T |
(d) "=farning Commission () TS 37T L
{Now Niti Ayog) -AL'1j— (== =fa ST ) ‘
. g = iy |
4.  Which of the following States ranks first 4. fFefaRaa™ F’i‘r & a.v =
in india in length of roads ? y mtaiiwfix: Bl ?ﬁ' N A3
(a) Maharashtra (@) R R
(b) Unar Pradesh (b) % il
(c) Madhya Pradesh (c) =eq wagy
(d) Rajasthan (d) Tr=iEgry
S. Direct Tax Code in India is related to e
which of the following 7 & Fﬂﬁi:?? B
(a) Sales Tax (b) Income Tax (@) 'ﬁ.ﬂ ‘
(c) Excise Tax (d) Service Tax () m‘;‘i D) 3y
€. The Headquarters of the ‘Green Peace BDE : () ==
International’ is located at &) Ay e
(a) Amsterdam (b)) Canberra (a) urgedg
{c) Onawa (d) Nagasaki b ;i
7. ABC Index announced by the 7 ()
Government of India is associated with T S WER gy Tfan
which of the foliowing 7 Freaferfas 5 Tway
(a) Agriculture (a) FfH e
(b) Communication (b) ¥
() Health _{e)
() Education ey
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According to the UN Department

of Economic and Social Affairs
(UN-DESA) what percentage of world's

total population is currently living in
urban areas ?
(@) 25
(c) 45

(b) 35
(d) 55

secondary pollutant ?
(a) Smog

(b) Carbondioxide
(c) Carbon mono-oxide

(d) Fiy

I ofs "M
_——

(b) Honey oy
(d) Pearl

1518 CE ?
(b) 20db
(d) 100 db

1 was held in
(b) Paris
(d) Tokyo

‘ _Change released ?
(b) 2008
(d) 2015

Which among the following is the

foilowinmwlamed

g represents the
g of tree leaves

s Conference on climate

s first National Action

10.

——

3=

e

@

>

14,
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) EwgEd U 2 anifde v wrntses arae B3
T (UN-DESA) & 319an faza &1 %<
EEn 1 paen afasrars e & o
fFam e ?

(a) 25 4b) 35

(c) 45 (d) 55
Freferfiaa 8 =1 fadas w595 2 7
(a) T

(b) FTAASIEATIHES

(c) TFHTEA HHI-HATFHES

Lel) T U

F=taiaa W@ﬁﬁﬁﬁfﬁfﬂﬁm
T SiaTd: ) e wdl & 7

gl =4

Srafaa T T hie] & uref ael e & 7
(a) == (b) 8=
(c) =g )y T

fr=tafas 8 S ameg afiieaf® 399 6
gﬂ;ﬁmmwfamvaﬁmaarm
(a) 10db
(c) 60 db

4b) 20 db
(d) 100 db

Sty gitads g J@geR e W JEeEr
COP21 FTaifa g3t an

(a) @rEw A (b) | R

(c) afeia & o (d) 2 |

ety ghEda w wra ) wyn g e
ATHAAT @hal ATehTTda =) 72 o) 7

(a) 2000 # (b) 200841

(¢) 20129 (d) 2015 %
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15. Whichis the most stable ecosyslem ¢

(a) Manne {ocean)
(b) Foresl

(c) Mountain

(d) Desert

16. Incinerators are used for which of the
following ?
(a) Burging wasies
(b) Putting wastes into them
(c) For cutting green trees

(d) " For making fertiizers

17 Whatis 'Green House Effect'?
(a) Increase in global temperature
(b) DeCrease i global temperaluie
(c) Increass’ineaa’water (emperatire
(d) Increas@ intempe raturamnisrivers
ana iakes

18. Which of the following s the main
component of the hatural gas 7
(a) Ethane
(b) Butane
(c) Carbon mono-oxide
(d) Methane

19. Which pain killer given to cattle is

responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acelaminophen
(c) Asprin

J4d) Diclofenac

20. Which of the following countries was the
largest emitter of CO, in 20157
}:fl;}.’..‘e.'ﬂﬂl (b) USA.

(©) India (d) France

15.

16.

17,

18.

19.

20.

T TN g

wara i feen mitfeafah a5 fa-m i
(a) APHEF (WETETTR)

(b) =4

S¢) THgdry

(d) ¥HEge™
=1tz =1 g Aefafaa 8 Fas i

fPmmsen 2 7

(@) F=T HIU FI (AR F faQ
(b) E31HIWF 8 7= F o
(c) F’:’Vﬁﬂ‘miﬁ'iﬁ;m

W(d) e A i
‘BhagrawE ¥ 7

ta) AR AT ETE

ip) Heerep Ay 50!

(c) #TT = & am ¥ gfa

(d) A== va e & FrE I3ta

fretfofga H R BT 8 = e
TR r

(a) =93

(b) =

(C) =HTEA HIAI-STa15E

Jd) THEs

gl ) 2 S SE-m 22 FaE
yra # @ & amn R 81 % [
I R 7

(a) ATFHETHA

(b) ufE=riEETSA

(c) umf=

(d) FEmenfea=

Freferfaa 2uil 3 -1 2015 F@aiive
CO,, 1 IeHstEH a1 7

(a) <= «b) H.q. smiE
(c) wwa (d) w4 A
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H-ma? 21. Which of the following statements are
true ?

1. Natural disastlers cause maximum
damage in developing countries.
Bhopal gas tragedy was man-made
India is a disaster free country.
Mangroves reduce the impact of

cyclones.

BOWN

foarrn fom

|
Select the correct answer from the
codes given below :

i Je ‘
Codes :
A3) 'lgaand'l (b) 2,3and4a l
PG (SERaE. (o) 1.3 and®

E-a\ﬁ’h«:h of the following has the Righesr ]

/-

locity 7
S y— :

) Light "
¢) Electron
Supersonic wave

23. G is
(a) An alloy of carbon
(b) Nano structure of carbon

(c) Isotope of carbon
{d}y None of the above

The sound will have highest velocity in

amEa

24,

{a) Vacuum (b) Air
(c) Water (d) Steel

25. A powerful eye irritant in the smoke is
{a) Ozone

(b) Sulphur dioxide

(c) Carbon dioxide

(d) Peroxyacetyle nitrate

. The book ‘A Brief stlory of Time' has

\_Js R,

22,

23,

24.

25.

@1
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o sasR-aswEde?

1. TS SATIETC S T Sia (e e
231 | =l el

2. WS NTE FEst gEE—-Hiaa =

3. WA S9E-gen =91 B

4. A=ia ATt =1 991E 5 S B

Hia B 2 3894 Sot 9L

e o
(@) 1,293 Wh) Z2igTE 4
(c) .29 4 (d)y 1, 3d997 4

Fr=fafas § ey T i e ?
(2) FHHTgen THaon

{b) WEHIET
(c) ¥=w=E

(d) T T

TERETE

(2) =m0 Ty ury

(b) =HTa= @1 =it 'zﬁm‘q

(c) FEEACATR

(d) 3v:’m; o s g

=i =1 9 A=A sen

(a) Frafa s (b) =rg 3
(c) == 9 (d) T=a A

331 7 HiE & 9uTiEa w0 e -
sifFel IS e 8 7

b)‘é'cfl:uaﬁm
(b) =. =R
(¢c) ==, s g -
(d) wsE, =g Ty -
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57 Which of the following is the richest |  27. ﬁmﬁaf@ﬂ‘ . atis faeif®E C Faai g, 33
source of Vitamin C ? | & b) A=
(a) Orange (b) Apple (@)t s

(c) TSI Ad) S

(c) Carrot (d) Amia R !

28. Which of the following planets may be 2g. TmfefEa Tl A aﬁ; 2 + AR
suitable for existence of life ? o 39gad & Hehdl & | =
(a) Mars (b) Mercury {a) AT (b) 3 34.
(c) Venus (d) Jupitor (c) ¥ (d)

29. Einsteimwas award Nobel Prize for of 29. Wﬁ ﬁﬁ‘éﬁ 395 ﬁ;‘HﬁT&,’m;
his theories ferd et JrEnl fer T =
(2) Theory of relativity (a) HMEFEILS li\'al,_'d & f%‘!rr
(bY Theory of photo electricity (b) T=hET fa’qﬂ o St~ \* fee
(cY Theory of specific heats (c) . fafire 3= % fargra & g 35.
(dY Theory of Brounian 'motion (dy 4= i ks & fou

30. Wiaich.of the following energy sources | 30. frrafEifiga sHi-A1di-8 W T FAT=00R
picduces NO atmosphenc poliution ? Heul F# I Fai e 7
() Nuclear energy | (a) aahrg 3=
(b) Solar energy Sy €3 36.
(c) Petroleum energy (c) uie=s 371
(d) Coal energy (d) =HTFeT 3o

31. The Directive principles of State Policy | 31. =3 & Hifa gy a3 wes 33=7m=3 §
may be classified in to which of the o A= 1 8 =99 8 w3 Aarfee &
following parts for the sake of convenient SEFAL 7 37
A (a) HOTSIETE
(a) Socialist 2
(b) Liberal intellectualistic (b) Jem feewarard
(c) Gandhian (c) TmetETE
(d) All of the above () 390

32. Which of the following was called | (320 fr=faftaa & fFd sveiss wr=1 2 s ? E
as Economic cabinet of India by ‘nfifss nfaafes” = Ty ?
Ashok Ch@dra ? : (a) A ST
(a) Planning Commission 2
(b) Finance Commission Jb) f&w amEm
(c) Central Cabinet (c) ¥ ufagfrae
(d) Administrative Reforrn Commission (d) W gur sEm A

-8-
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33. Who was the Chief Justice of India when | @32 T =T SaaTe 3 wiE Stea A
Public Interest litigation was introduced =1 writet e T 39 @G 9id % 5
in the Indian Judicial system ? AT 9 7
(a) M. Hidayatulllah (a) UwA. REmEgsr
(b) A.M. Ahmedi (b) U©.UH. AEHA!
(c) P.N. Bhagwati .(c) dl. A, W=l
(d) A.S. Anand (d) T.TH. A=
a4. Who is the author of the book “The | @) ‘z uafides wign e’ T&== F T
Accidental Prime Minister” ? e 7
5 (a) Rajdeep Sardesai (a) TEETYEERETE
(b) Karan Thapar (b) = Il
(¢) Kuideep Nayai (g) FAS AL
(G)anjaya Baru (d) TS EE
35. Mention the comecti date of the last ]| 35. wrra = et T et sifan e H1 ad
meeting. of the Cgnstituent Assembly =iz sarsc|
clindia.
. . 4. 194 B) 5 fE=. 1949
= (3) 26 Nov. 1949 (BY"S'Dec. 1949 «a) 2673. 1949 (b)
(c) 24 Jan. 1950 (d) 25 Jan. 1850 (c) 24 5. 1950 (d)l 25 SH. 1950
36. Which of the following CAN NQT be | 36. Fafeiiad 7 A 77 3l SHal St F=an
disscived but abolished ? T TETE TEaT AT Sar = ¢
(a) House of People (a) Sr=EEl
(b) Council of State .(b) T=" N1
(c) Legislative Assembly (c) =uam o
(d) Legislative Council Ld) TEa= ufts=m
37. When did the Government of India | (37! WId &I T ‘gfeen va sasfass™E’ &+
establish the independent Ministry for oo = TaTea e waiae e o 7
“Women and Child Development’ ?
(@) 1985 (b) 1986 (a) 1985 {(b) 1986
(c) 1987 (d) 1988

(c) 1887 (d) 1988
Whatcan be the maximum representation

@8} s w1 A Fex wita & wEiow
from the Union Territories to the Lok

vt e s igsai 2 7
sab(a) : 1"’;.,? (a) 15
(6) 20 (b) =20
(c) 25

(c) 25
(d) Iq0Ea H | 18 TE

(d) None of the above
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39.

40.

41.

42.

43,

45,

How many teams participated in FIFA
World Cup organised in Russia from
14 June — 15 July 2018 ?
(a) 32 (b) 34
(c) 36 (d) 30

In which of the following countries did
Prime Minister Modi start ‘Ramayana
Circuit’ on May 11, 2018 ?

(a) SriLanka (b) Myanmar

(c) Nepal (d) Indonesia

‘Purvanchal Express Way' in Uttar
Pradesh will not pass through which of
the following cities ?

(a2) Faizabad (b) Basti

(c) Azamgarh oy e

Basarding to United Nalion's E-Government
Index, 2018 India ranks atwhich place 7
(a) 9o (b) 95

FASR T\ {&...899"

Which oiihe following Siateswas in the:
G2ws for the outhreak of Nipabh virus
disease in May-June, 2018 ?

(a) Bihar (b) Kerala

(c) Haryana (d) Gujarat

In which city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar 7
(a) Bengaluru (b) Hyderabad

(c) Dethi (d) Chennai

What is the rank of India in the world as
per Global Peace Index (GPI), 2018 ?
(a) 13 (b) 137t
(c) 138" (d) 134"

- AP

41

44

39.

40.

45.

ST O SO0 I 00 o0 e

14 SE Y 15 FcITE 2018 T T4 1 370 iy

£ _ 46
FIFT (FIFA) fawa 9 # 5ot e 21 5 f
s feaan 7
Aa) 32 (b) 34
(c) 36 (d) 30
e 290 O e o= 2= 5id s 47
11 5% 2018 =1 ‘TEIEYT G2’ i IEem
=1 ? _
(a) sftei (b) =ER
(c) =T (d) I=EfEE
IR H ‘gAiae uaEad g9rl Aefais .
H T5a 317 | 557 =i 7
(a) FuEE {b) =i
(c) ATIHTS (d) H>
I O K - gaaegass, 2018’
HIHT G FV -5l ST 2
(a) so= ) st 49.
(c) oe=i (d) 9847
Frafafiag g=at § 99 -5 2018 #
FraTe a/EE S & gy S S Haid
a1 7 i
(a) Frew 1 I l'i
(c) == i) TS
Nt e Efiee e s eote 0
T U9 TGS T TR e e W)
wufis fEa wn ?
(a) =gs (b) BIn=n=
Ac) FEeeh () SI=ré

c = : « F'5?

Afras mfa gawis (i T1§), 2018 %

sgan Bva 3 vra s W -mr saE 2 7
(a) 13841 (b) 137 =1
{c) 138+t (d) 134 =f

L B

=™ M

(a)
{c]
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46.

48.

15t Pravasi Bhartiya Diwas in January
2012 will be held in which city ?

(a) (b) Vadodara

(c) Jaipur (d) Pune

Varanasi

From 4" July 2018 the Minimum Support
Price (MSP) during 2018 — 19 for paddy
per quintal is

(a) Rs. 1,550
(¢) Rs. 1,750

(b) Rs. 1,650
(d) Rs. 1,950

Who arnong the following won the
Fawsian's Parlamentary Elections in July
=ui8.and became the Prime Minister ?
@paiawaz Shagt _(b) Imran Khan
ereBilawal Bhuttc (d) Reham Khan

Who among the fallowing wonuthe
Magsaysay Award, 2018 7

(@)
(b)
©)
(d)

Bharat Vatwani
Sonam Wangchuk
Both (2) and (b)
None of the above

The 10" ‘BRICS' Summit 2018 was held
in which of the following countries ?
(a) Brazil (b) South Africa
(c) Russia (d) China

Which of the following is & Samhita of
Shukia Yajurveda ?

(b) Maitrayan

(d) Kathak

(a) WVajasanami
(c) Taittiriya

46.

48.

(-_@1

S0.

&1

-9-
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15 =1 wardl wEha 2as s=af 2019 9
g s | anAafsE 2 7

{a) SwonEH H (b) @er=a#
(c) SEgLH (d) g0 |

4 ST 2018 | ¥H =1 WA Faa FHad
aaffa qeg (ua.ua.d.) 2018 — 19 F
2 2

¥a) %. 1,550
{c) %.1,750

{b) . 1,650

(d) ¥. 1,950
frfefaa § Eea 3 soTs 203 8 7 T
=i Wﬁaqﬂamaﬁ'xwma‘?am ?

(a) =aTE O Jb) WA G
(c) Taams 8 (), _Ten W

o 3 & foem 99 2018 3 HIaH QiR
A 7

(a) ¥Ha FeaE!

(b) T TS

J(c) 3FErE (a) 3R (D)

(d) 39T H A HIE TAEI

zvm ‘s’ (BRICS) firat a=tes 2018
Frteriaa = o By senfsa e e 7
(a) == «(b) =for afe=m
(c) == (o) ==

Prefafaa 3 8 =) g F9as 6 "@iea
&7

(a) =THTAN
(c) A=im

(b) A=wvh
(d) =H1ah

.::I'*
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Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : Thers was no political
unity in North India.

Sezlect the correct answer from the
codes given below :

Codes ;

(8} 8315 (A and (R) are trug and (R)
5 the correct explanation of (A)
BOWM{AT SN (R) are true, but (H) I1s
not Ne corfrect @xplanafioRar(n
(A) is true, but (R is faise

{A}is ialse but (R) is tue

(b)

(c)
)

Arrange the following temples in a
chronological order ard seled:t the correct
answar fom he codes given below -

I. Brhdishwar temple

Il. Gangaikonda cholapuram tempie
Il. Shore temple of Mahabalipuram
IV. Sapt pagoda

Codes :

(@ L univ, m
(B) I, I, N, v
(c) W, nm, 1, v
(d)y IV, 1L 1L

The inscription of Hathigumpha is the
source of information about which king ?
{a) Kharvela

(b) Ashok

(c) Harshavardhan

{d) Kanishka

/
\

a1 Z&t F FR (R) FE1 T

A (A) : WA TG T A

U1 (R) : 3T HIA H T Ga =

o1 |

13 fau £21 A8 @ 39 F 95 fify

A

(a) FIF(A) TN FIO(R) T wE Ea
RV (R) F494 (A) ) 178 sen g

(b) FHUH (A) TH FON (R} A T E v
FHOL(R) T A) ) w7 ¢

(c) =+ (A) wl B, feg F1091 (R) Tt
fd) a7 (A) TeA ?, Fg gvm () =

e oA ) e 1 aafiva i
A feu 21 B & &8 3o a9fn |

I FEaIvE Oiet

Il FvE Sege SR

. wErEefigs =1 a2y s[fet

V. &= Wy

e

@) L u,
() I, 1, m, v
(€) uw, m, 1, v
(d) v, m, 1,

s w1 sifiere fan was & 0
o w0 W w5 R 7

) wEEs

V(b) S

(c) Bdads

v, m

D O gy O T

‘52 Hrazrsua RRume? R ve e Fa3, 565.

S8

58

(d) wfres A

Gr
fat
as

(D)

(c)
\d)
Wh
pros
anin
(a)

(<)

Whic
corre
(@)

(b) 1
c) 1|
(d)

Whic
cormre
(a) |
(b)

(€
(d)




1ST AVAILABLE ON
LATFORM FOR GOVERNMENT EXAM PREPARATI(

R
Bl

=, |

1 Eawm
= g

Eueg
TE R

Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) - In 1946, the Muslim

League withdrew its acceptance of the

Cabingt Mission Plan.

Reason (R) : The Muslim Leagque

joined the interim government formed

in 1946,

Select thegcorrecizanswer from e

sodes given below -

Codes |

a) Both (A) and {8y a%e true and (R
1S the correct explanation:of (AR

i) aBath (A) and (Rpase true, but (R} i

TEa R
yaé e

iﬂﬁﬂli 56,
F

2 fed

not the corract exnlanation of (A).
(c) (A)is true, but (R) is false.
(d) (A) is false, but (R) is true.
Which among the foliowing sites
provides evidence of domestication of
animals in the Mesolithic penod ?
(a) Odai (b) Bori
{c) Bagor (d) Lakhnia

Which of the following pairs is NOT
correctly matched ?

(a) Adina Masjid — Mandu

(b) Lal Darwaza Masjid — Jaunpur

(c) Dakhil Darwaza — Gaour

(d) Tin Darwaza - Ahmedabad

Which of the following pairs is NOT
corractly matched ?

(a) Dhruvadas — Bhagat Namawali
(b) Nabhadas — Bhaktamal

(c) Raskhan — Rasik Priya

(d) Usman — Chitrawali

e

55.

57.

GCTWY - 01

= 21 Fu RUTE | U FFGF (A) 991
ZE 1 HA0 (R) FE T E |

=T (A) - 1946 ¥ gfem =im § “FaEz
figr wa & forn 41 718 379 =g add
SRS

=T (R) : 1946 3 afaq JFafm =R
# gicem o wifsEs 41 )

{i= o Z21 7 & el asegiEe

+<!
(a) e (A) Ut (R) ITEA B ga
T wmm (B) FFaR (A) B O AR
T (A) AL FU (R) S TERE 959
FWOL (R YT (A) ) ST T8 2 |
(C) T (A) Tihim, TSP (g it |
(d) =43 (A) TIETA H, g TR ) S8 R )
frafarfiaa 2 4 969 LaE 9o Hie
i 9] 9rer & 9w aaa § 7

(b)

(a) 3 (by =

o) =R (d) =r@=4ai
fefefaa g S SR ad afeaadi ® ?
(a) & Hieas — Wig

(b) =E e Hiewe - Sy

(c) =TRas FEE=n - Mg

(d) &= =EEEn IETETETR

e g A s adft feaafi 2 7
(@) HASTE — YT ATHIE

(b) AHTER — WATHTE

(c) @™ - Uas fam

Ad) T - faaEa
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59. Arrange the following events in their | (59. fr=fafiaa sz71a31 &1 FTaFaTER

chronological order and select the =gieag e oz 99 23 3 == 2 58
correct answer from the codes given I9T =BT 99 SIS |

below : A. B2T 1900

A. Hunter Comm‘iss.ion B. T=oT a0t

B. Sadlar Commission c. F= = I IR E |

C. Wood's Despatch

. Grste Ar=ar
D. Sargeant Plan D

Codes : B :
S o oalt (a)) A B D jC
el = ARG Wb) C H A D
© A B Cc D ()AL Bee B
@ C A B D (d C A B D
60. [ Whoamong Hhéfollowingicaders founded g0, Froifefiaa darst & ffand it 7=,
the revolutionanyerganization — ‘Abhinaw ‘FhEa wg wgTst f =y & ?

¥=y Bhagat Singh

(b) Vinayak Damodar Savarkar (b) T e gt

(c) Barindra Kumar Ghosh (c) FMT=FuR =y
(d) Pulin Bihari (o) gfe=|faemt
61. Which of the following pairs is NOT | (61. Feafafiaa 9af § ¥ wet gutera a1 & 7
correctly matched ? fars
Rebellion Year 2 =4
(a) Santhal 1855 ) SIS 1858
(b) Kol 1831 (b) ==t 1831
(c) Khasi 1829 (c) @wh 1829
(d) Ahom 1815 (d) 31@m 1815
62. Which of the following is the highest | 62. fi=fafiaa § Y9 vyrra =71 waa ==
waterfall in India ? FAUIE S 7 8
{a) Jogfall W(a) S S e
(b} Kunchikal fall (b) THtEFe Staaara
(c) Rakim Kund fall (c) mmwﬁ
(d) Kewviifall (d) Hafa seraara A
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63. “Vegetation is the true index of climate’.
This statement is associated with
(a) Thornthwaite (b) Koppen

(c) Trewartha (d) Stamp

64. Inwhich of the following countries is the
Pampas grasslands situated ?
(a) Argentina (b) Brazil
(c) Chile (d) Ecuador
65. [wWhich of the following paiis - is NOT
correctly maiched ?
Desert Country
{(a) Sonoran SIS A
| (b) Taklamakan — China
‘(G)‘Karakum e=_ Turkmenisiao
ad)  Gibson - Brazil
e sy
66. I - Adrange the follox..mg coffee producing
Stries in descending order of their
roduction (2018 qUantityy=aa"
select the correct answer from the
codes given below :
A. Colombia B. Viemam
C. Brazil D, indonesa
Codes :
(a) D, C. B A
(b) C.B,A D
(c) B.D,C, A
(d C. A B D
67. How much the maritime distance between

India and Europe was reduced after the
construction of the Suez Canal ?

(a) 5,000 km
(c) B,000 km

(b) 7.000 km
(d) 10,000 km

l
l
l

63.

66.

67.

-(a) 5,000 5.,

GCTWY — 01

‘Faeafa ST &1 8 gas 2 ) a7 949
mafaa s

(a) FH=zA2 Lb) W

(c) Srarai (d) =g

Srofefiaa 23 8 O e 990 978 1 9514

=az7

JSa) ISf=a (p) =Tsfiet

(c) ==t (d) ST

Frafafma A A A g gafca a8 & ¢
TEESTE =37

J(a) FERA —ay 1. AT

(b) dFATHHRH — ==

(c) FuEH - FRAEEE

(d) T3 — | A=

Fraieafaa srslEanzes e =1 39 751
IMT=S (2016) (FET) HiI=aas =9 3
=EEAAFL AR S 28 3 s A w5 I
=1 =87 Tl

A. SIciEan B txaaas
C. @t AT |
e -

(a) D, C B, A <«

(b) C,. B, A D

(c) B,D.C, A"
{d) C, A B D

DS AR F WA 9 ¥ gvEr, W 3 g
= e <0 TgiEes 20 0 e =i e 2 2

(b) 7.000 5.5

(c) 8,000 1. (d) 10,000 &% 1.
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s o
68. Amangethe folowing Indian Meteorological | (68, Frefefiaa vmdta an geaerdl 1 35 =
Headquarters in Chronological order TG & HTATgEH T safeya fifse o 1
of their establishment and select your 19 &3 72 Fz 8 393 981 I F 994
correct answer from the codes given Fifem |
b:Im:l'Dlh' B i) 8. G
ew Delhi . Kolkata ¢ fmer 0. =2
C. Shimia D. Pune
&*c :
CSOes : e
. A g @) mpD A D
me A D & ®) S Agm P g &
ey D B (o7 A (c) D B [ A
@igl c ey : ) B C D A &3
i i~ ~p a0
69.. Which of the {oliowing statements is | 69. =it suAi 8 57 v sdi 2
NOT correct ? (a) = P R Sz snm A TR S
(a) Black soil is locally called ‘requr’ St e |
(b) Ascec::»r:!:r:g ltlc Krabs the regur soil (b) F=8F -,za-a-n_’gy g sifal =g 8
i sentially a mature soil T ﬁTQ > E 74
(c) Black soils are highly retentive to S o %.'Fﬂ 2 R
TR (c) =it Brdt |7 srdan (1) W =33
(d) Black soil is found in Himalayan 1 359 e e @
region d) wrch Tt oo dm o s 2
70. MacMohan line forms the boundary | 70. H&HIE" T@n =i tman w4 75. |
between “(a) WHA vd 4 F s |
(a) India and China : .
b) MWA US qifdEar 3 ]
(b) India and Pakistan ®) 5 Sl Sl 1
(c) India and Myanmar (c) WG TH =aR % e |
(d) India and Nepal (d) W& v A9 & s {
< S 76. V
71. At the mouth of which of the following | 7¥. Freiferfiaa sfedi # frad qert w asht & 8
rivers the ‘bird's foot' type delta is 93" H) s wwen Tear wwm R 7 -
(a) HuangHo  (b) Nile (b) = i
(c) Danube (d) Mississippi 1©) Q:z{a (@) T ((:
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72.

e

75.

76.

Natural growth of population is the
outcome of which of the following ?

A. Crude Birth Rate

B. Crude Death Rate

C. Migration

D. Marriages

Select the correct answer from the
codes given below -

Codes :

(@) Only A
(c) BandD

(b) OniyC
g} Aand B

The Human Development Index (HDI1)
was first developed by which of the
following 2

(&) UNDP

(b IMF

(c) UNICEF

(d) UNCTAD

Which of the following is the largest rural
employment programme in India ?

(a) MNREGA

(b) TRYSEM

(c) Work for food

(d) Skill Development Programme

Which of the following is measured by
the Lorenz curve 7

(@) lliteracy

(b) Unemployment

{c) Population growth rate

{(d) Ineguality of Income

Which of the following States is ranked
economically at the top but the lowest
on the basis of sex-ratio ?

(a) Madhya Pradesh

(b) Maharashtra

(c) West Bengal

(d) Haryana

73.

74.

5 '::{_5 )

76

72,

GCTWY - 01

FHEE ) uiwfas Fie e 8§ 3 g
Brorer b 7

A, IFEITHE S =2

B. ifa gy 22

C

E

D. B
fau nu 52 & = 39 = 937 Fifs

I»- :
(a) FA
(c) BSID

) FaaC

id) A B

o 1 g TFas goiaqa G ga9s5=
(HDI) Fauey fa& e Beay man ?

{a) L. FR, 3

(b) HTE.UH.UE. TAT
{c) FFEE g
(d) HAT2=TM

Fratahen 2 s oed Samior e+
Had s wAEa e 7

(a) w=Tm

b) TEEE

(c) M 3 =zt 37TH

(d) =ioa GEE sriwEn

;-nzwf%{ﬁaa T S 926 TR0 SIS AT
27

(a) =

(b) ==

(c) S=EEm gfE =t

(d) = = RAuam

Frferfaa gl A ¥ snfds ofe @ g
f;t;r. afees Trmgama % san waeEs 9
(a) |eq w27

(b) HERT

(c) 9fFsm soms

J(d) ®fEmn
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78

80.

B1.

B82.

Which of the following taxes is levied by
the Gram Panchayats 7?7

(a) Sales Tax

(b) Land Revenue Tax

(c) Tax on Local Fairs

(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(@) 9" b)
(&1 )

10'?1
12t

Which of the Iollowing cities intuar
Etradesh has NS been selected.for
development under tne Smart City
Development Programme of the Central
Government ?
(g) Lucknow

(c) Ghaziabad

(b) Allahabad
{(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according fo the
National Family Health Survey (NFHS)

(2015 —18) ?
(a) 2.2 (b) 2.4
(c) 3.2 (d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?

(@) Tendulkar Commitiee

(b) Saxena Commitiee

(c) Lakdawala Commitiee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country |is
under forest ?
(@) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

80.

281,

82

(T LT

F=fafaa =0 Q HIT-FT T T G144
S SMAr Sl e ¢

(a) Teishl =1

(b) q-T5 = F1

(c) Fartg Fai w =+ |
(d) 399w H 8 &iE T8 |
giE # [FEieriea et Frere o

JEx 0 oo = STy g-ﬂ,;' o7 ?

(a) 94 (b) 1047 |
qc) 1147 (B B2 =

I 92T oh EelleTRan e aE e =
821 [aem@ Frdwa § fammed fou 52

ORI B T8 A1 T 8 7 Sk
(a) “F 3% (L) 2SI T=E:

Jo) it {d) =T
:r:,&v:fﬁrnvz:wnz@mmmasy (2015 18) 87
+ FHET A ¥ aug 6 F U 2
(TFR)y=nT 8 7

(a) 2.2 «b) 2.4

{c) 3.2 (d) 3.4

VA H T &1 H w1 v giErl 6 88
E=TH * forn feafafeg 8 3 9 -t wfafy

nfaa = off 7

(a) Sger Hiam

(b) T winfa 8o
Wc) TiweEare amfa

(d) =fsm afafy

sBET-22 375 wie s 2017 &

SR, 2 F Fa e smea = 90

Faat afawraim =i % ateia 2 7
(b) 2234
Xd) 23.54

(a) 20.34
&) 2154
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83.

84,

85.

86.

87.

88.

89.

OO VO

When was ‘Project Tiger' launched in
India ?

(a) 1968
(c) 1984

(b)
(d)

Which of the following is an example of
anthropogenic biome ?

(@) Fresh water (b) Grassland

{c) Rain forest (d) Cropland

1972
1993

wihiche! thesioliowing animals cansive

siihe longest duration without drinkis el
wiatar "

=) Camel l

(Y Kangarodrat

(@) Giraffe
{€) Kangaroo

India’s tirst Nationa! Centre for Marine |
Biodiversity (NCMB) is located in which
city ?

(2) Bhavnagar
(c) Mumbai

(b) Jamnagar
(g) Puducherry

Dachigam National Park is associated
with which of the following ?

(a) Musk Deer

(b) Golden Oriole

(c) Yellow-throated Marten

(d) Hangul or Kashmir Stag

When the World Biodiversity Day is
ocbserved ?
(2) March, 22
(c) June, 23

(b) May, 22
(d) April, 16

Which of the following is concerned with
soil ?

(a) Edaphic (b) Climatic

(c) Biotic (d) Topography

The maximum concentration of ozone
is found in which of the following ?

(@) Troposphere (b) Mesosphere
(c) Stratosphere (d) Exosphere

“17-

83.

84.

lBG )

87.

89

GCTWY - 01
qra H |19 RIS Fe 37E Y 72 7
(a) 19681 {b) 19723
(c) 1984 # (d) 1993 H
Fafafas 3 9 geasaq a1 o=
IWON 2 ?
(a) Siad (B} Tm?ﬂﬁ-ﬂ:.
(c) =9i =1 {3y eaEt gH
q m ==t xrwfxﬂ?mé ?
(a); fa13ms Ab) F=
(c) =% (d) == g1
WITA &1 99y A9 927 vw 2113
:rmr?r?aﬁvnrr—nhmeﬁ VRE aaieir
as?
(a) wrETeE (b} SR H
(c) =3 # (d) 9==0 9
s ha 3am Feafofaa | | e
TG 2 7
4a) el o
(b) M=2H FTTHE
(c) ﬂ_Fﬂ g12s "1
(d) =S A FyH =297
ﬁ‘(&é’-{ﬁﬁiﬁtﬂﬁfﬁﬂ*ﬁmrwm: 27
{a) 5, 22 (b)y w§, 22
(c) =3, 23 (d) 3Ta, 16
Fafafaa i 3. A wrataa 7
(a) s=fhe (b) wEERRS
(c) =gizs {d) )
= 1 | fad siim 4 waifas @iz
et & 7
(a) FNEEERH (b)) FEreda

() Rafimd  (d) swEredia
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92.

o3l

94,

95.

As a result of global warming the
frequency and severety of which of the
following are increasing due to global
warming ?

(a) Cyclones only

(b) Storms only

(c) Hurricanes only

(d) All of the above

Which of the following is NOT an example
of in-situ conservation strategy ?

(a) Biosphere reserve

(b) Botenical garden

{c) National Park

(d) Sacred groves

Ultra-violat radiatiss from sun light
causes the raaction that produce"Wsics
2f the following7

(@) Co

(b) SO,

() Oy

(d) Fluorides

Norman Borlaug was given Nobel Prize
in which neid ?
(a) Agriculture
(c) Medicine

(b) Economics
(d) Peace

Which of the following paris is NOT
correctly matched 7

(@) Renneting-Cheese

(b) Genetic Engineering-Plasmids

(c) Golden rice-Vitamin A

(d) Ozone layer-Troposphere

Which of the following pairs is NOT

correctly matched ?

(a) Bandipur National Park-Kamataka

(b) Manas Wildlife Sanctuary-Assam

(c) Periyar Wildiife Sanctuary-Kerala

(d) Simlipal National Park-Madhya
Pradesh

~18-

91.

.9'3.

L 4]

94.

| 95,

VI g O

afFas 3wE F wo wey ofafag §
e sro=ra s sevEm Az T 2 7
(a) e Jwara $

(b) Faer A i

(c) Fae a=5vst #H

(d) I9ren i Y
Frafafaa 3 =959 =-amT 9o o
1 LB AE B2

(a) IR

(b) FTEGRIE AW

(c) U< TEH

«(d) 9fa3 3Igaq

A4 e & g0 -ShET R s
9 1 3w st 2 e

(@) === AFEEES

(b) HEH 213 FETSS

«{C) A=
(d) wSgEsE
anha‘v—afwaﬁ%aéﬁii:iﬁaqrm R
STH T may 7 :
{a) Hut (b) 3w
(c) ufy (d) =<1
: ﬁcrf%{fﬁagnﬁﬁ?ﬁqm@%am%?
“ ) BfE-gfx

96.

(b) 9 FrEnfER-nfEeg

(c) "Ie=a SEa-faafag A

(d) TSI @-2rfreden

Frafatas gmi S ud g e 8 2
(@) Tt g T -t

(b) WIHE 9 s svgrug - sy

(c) A == e svamog-Fa

«(d) TrEfiares g sev—nen wim

97

98

99,

100.

101.

102,
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Yfea & 97. According to J.V. Narlikar which of | (97, F=fefaa & s 3. &1, arefia % sw7an

A2 the following has so far NOT been sfias AEm A g s e ?
E considered as a science ? T
(a) Astrology "@) R
(b) Astronomy (b) Tl
(¢) Cosmology (c) wwrifEh
(dy Nanotechnology (d) AT
98 Which of the following was invented by | ag  Srgfesfiag O faasr snfassr faasey
[ ot Wilhe:im Rosntgen ? =31 g B e ?
(a) Radio (a)ﬂ TN
(b} X-Ray Machine 4b) -1 guflE

{(eY  Eleltric Bulb

(c) o = a0 -
(d) Norie of the above

(d) IR A 12 T8l
99. #.va. v i RERR) s R g &
s oft ?
(@) JA%T T HAE
{b) =TEEa aur s

s 88 Double-helical struciiuie of DNA was
'given by wham2
{a)» Jacob and-woned
\b) Watson and Crick
{c) H.G. Khorana

—— — . W {—

(c) ©H. Sl &1
(d) None of the above (d) 3IUiTek O Qahig A58 % i
100. Which of the following electro magnetic ,fif:(jp_ frafefas fags g = 7 & ,‘-|
=R radiations has the maximum energy ? | ) 3ot Aiusan ol 27 -
(a) Visible light (a) ¥ 9H"
{b) Inirared rays (b) =T o)
(c) Ultraviolet rays (c) Wt B
me? (d) X-rays Jd) X-fsm
101. Methane is emitted from which of the | do1) = s 5 & fea® Prserdt g1 safla
following ? B e ?
(2) Paddy fieids only {a) Faa-9F & Tyar 3
(b) Termitary only (b) Fae dm= ) ansh |
(c) Both from (a) and (b) Jc) (a) 3 yFEi A
g (d) None of the above (d) 390 # et | 9@
102. Which of the foliowing elements is a [ 102, Fr=fafas ael 3 ¥ siderw 8 7
sami conductor ? =
i Wﬁ'ﬂ'ﬂ
(a) Aluminium (b) Silicon (@) (o) FaRvem
B (c) Silver (d) Lead (c) =t (¢) #Hrn
£+
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105,

108.

106,

107.

How many types of justice, liberty,
equality and fraternity in that order has
been mentioned in the preamble of
constitution of India ?

(@) 3,5, 21 (b) 1,3,5,2

(c) 2,5, 3,1 (d) §2,1,3

Who was the UIPA candidaie for the
2017 Presidential election ?
(@) Ms. Meira Kumar
(b) Mr. Gopal Krishna Gandhi
& Dr _Karan Singh
(d) None'of the above

Who was the first Vice. Chaimaiwi-ihe
NIT1 Ayog 7

(@) Arvind Pamagarivs

(b)y Raghuram Rajan

{C) Chandrasheniara Subramanyam
(d) Rajiv Kumar

Which of the following is the first State in
intia formed on the basis of languages ?
(a) Kerala

(b} Madhya Pradesh

(c) Andhra Pradesh

(d) Uttar Pradesh

Which of the following is an extra-
constitutional agency ?

(a) Union Public Service Commission
(b) Finance Commission

(c) Election Commission

(d) NITI Ayog

The recommendations of Sarkaria

Commission relate to which of the

following ?

(a) Distribution of revenue

(b) Power and functions of the
President

(¢) Membership of Parliament

(d) Centre-State relations

£

ORS00 0 A A

103! wma F w@fum 1 v 4 ey v

104

105

106.

107.

108.

FHH Ig@ Fr o @ 7
(@) 3.5,2, 1 {b) 1,3,5 2
) 2,5,3, 1 (d) 5.2.1,3

2017 =% Urgafg a8 4.91. 0. =1 30fzan
FH 941 3

(&) BTz -

D) A1 W TCr R e

(c) =1. 1 e

(@) 39idg ¥ #1¢ 381
AT JAA/ Fr Fa8 GEE (ITmaTTE)
Fen 7

(a) 3nfE= yanfem

(b)Y TR T

(c) F=3Rgy Heiga—5m

(d) TSl FaR

Frafafad & g4 vma o s s TR
9% H-T 9Eei s 497 7

(a) FTe

(b) 7=7 w=m

{C) HTg y2

(d) 3wz 92w
ﬁmﬁ‘-rﬁ'aaﬁaﬁaw#f‘amfmrm R 7
(a) &= & Ja1 e

(b) fam smam

(c) Trat== amam

(d) AT smim

R 374171 ) o Prferfem
Fed a2 7

1

(a) s =1 faam
(b) Trufa i wifdea v w4
(c) THZ & HIEga
(d) F=-Tsg Ty




1ST AVAILABLE ON
LATFORM FOR GOVERNMENT EXAM PREPARATI(

B 109
N .
| ) 110
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112.

113,
i

114.

The Parliamentary form of Government
was first introduce in which country ?
(a) Great Britain (UK)

(b) Belgium

(c) France

(d) Switzerland

_The Council of States has exclusive powers

i refation to which of the following 2

(a) To inmtiate proceedings for the
removal of the President

(b) To initiate proceedings for the
removal of ajudges of the Supreme
Court

(&) i0 recommend creation ohamnew
Al India_Senvice

{d) None of the assve

in_which Part of the Constitution of
Indiawe find the Srovisions relaling o
citizenship ?
(a) Part|

(c) Part Vil

(b) Part il
(d) PartIX

Parliament can Amend the provision
on official language of India under the
Constitution by

{(a) a simple majority of its members
(b) 2/3™ majority

(c) 3/4™ majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can a
M.P. be disqualified ?

(a) 30 days (b) 60 days

(c) 90 days (d) 120 days

Who among the following Governor
Generals ridiculed congress as
representing only a ‘microscopic minority’
of people ?

(a) Lord Dufferin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

110.

12 i

A12.

113.

l1i—4

-21-

109,

GCTWY -0

FANGH HHETeH® HiHN g 29 § w1y
ﬁ@f?ifz:ifi &.4

{a) U2 = (3.%.1

(b) Az L2

(c) HEH _ﬁ

(d) T=He=rsvz i
frafafiaa § A fras sag g = aar =1
T AUFE R ? -

(a) TR W, ARG T Bq FrEAE
UH. ST

HA = =TAAT H=aardisil ) 392y
U= ] Afge I 89 F g ag
(d) IR HiS =et

WId & HfauE & e 91 3 w5 amieean
A yEgHI FHI 9 & 7

(a) Wl {b), WP

(c) wmral @y |rTiX

YR wiEauE |2 wa i SAfasies g
A I WEuE § §H 9iH 1 9Fdl 8
(@) 3791 HIHT F HIYRY g5 71
4b) 2/3 FEHA ZA

(c) 3/4 =EHa Z

(d) 3193 1/3 == ¥ @ads g

= s % e R d@ae @ srefam
= W1 Tt |ae =) s aifea B sn
HEare 7

(a) 30f= -(b) 60 &3

(c) 9ofe= (d) 120 2=

= e seEn A & e wtia =
‘sreatues seuEEas’ @ vt
w1l FEa ITEE fea ar ?

J(a) @E swiEm

(b) =NZE wsiq

(c) =mE fi=)

(d) =€ FasTHA

()

(e}
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What is Dhing Express ?

(a) Train between Dhing and Kolkata

(b) Nickname of Hima Das

(c) Express way between Palwal and
Kundli

(d) Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the foliowing 7

{8) ‘Swachcha Bharat

(b) BSNL

(c) Ben Bachao Beti Padhao
(dy=Project Rhel

Supremes Couds judgement iegarding
homosexuaity is related to which of the
foliowing 7

(a) Section 277 of IPC

(b) Aricle 377 of the Indian Constitution
() Article 277 of the Indian Constitution

(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the foliowing ?
(@) Ingian and Russia

(b) India and China

(c) India and Israsl

(d) None of the above

Andrez Manuel Lopez Obrador is
President elected in July 2018 of which
of the following country ?

(a) Venezuels (b) Argentina

116,

119/

(c) Mexico (d) Nicaragua

115.

AT R 0

dmurma T R 7

(a) &1 awm Fewa F qeg EmE
(b) o 2/ w1 dearen am

(c) Terael 91 FUBH] & *fta UFEdE 4
«(d) =g of

" =g =1 w1 €1 9 (e 2018)
T | forme ave vEms sET T R 7
(@) =<3 IHa FH

(b) F.vgETS. =

(c) oA T 3 gy

o) W= T T

TR TR A PR A = i
frafafaa Afros a2 2

(@) W.3.81. H g 377

.(b) Hrdta BETE w1 FT=Ea BT

(c) AR H@UYH 6 Haea= 277 =
(d) FTIEHRE T -
FrES 9 fmnge soam s § 3
e o 5o IuEn 8 7

{a) YT a9 &9 %

(b) WaE 99T 9 7

(c) WW@A AT THIAE F1

(d) 3uTres H = 7

U§s Aque S s sed 2018 §
= 1 8 Bea 2 % gt fraifas g ?

12¢

121

122.

123

124,

(a) Fr=uen s(b) ST
(c) AfFE= (d) Frrmsn
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120-- On the basis of Panama Papers, the

121.

122.

123.

124,

A

Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

As per draft National Register of
Citizen (NRC) of July 2018, which of
the following States:mere than 40 iakin
illegdl migrants were found ?

(a) Nagaland (b)Y Mizoram

(c) Assam (d) Trpura

Who of the foliowing inaugurated
SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 7
(a) Ravishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the above

As per report released by U.S. Journal,
‘SCIENCE'® on 26" July, 2018, a massive
underground lake has been detected on
which planet ?
(@) Jupiter
(c) Venus

(b) Satum
(d)y Mars

met
American President Donald Trump

North Korean leader Kim Jond on 12
June, 2018 in which county 7

(@) Malaysia (b) lndones;a

(c) Singapore () Thailan

124.

-23~

121.

! 122
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120. 9amT 998 F 39T Y1, WLTEE F (S

Freafeafiaa 29 4 fFas gama:h =1
10 9 St <l gt 21 77t 7

.(a) TEEEY

(b) FfFEE

(c) wifeream=

(d) 39U | IS T

ATE 2018 H TFYE AvAe et JAE
e (NRC) Fegress g 8 =9
T 40 = J 3 I TS g TR ¥ 7
(@) AT (b) s

.(c) HEH (d) BT

saTé 2018 ¥ f # & fFad 7o w9
(arg o e e GE T YOTEL ) S
Igares o ¢

(a) e wHie

(b) Torgm Ma=

o(c) =1. gdada

(d) 3T | 1S TEl

apafht gfae, ‘fAEE’ (SCIENCE) @
26 [T 2018 it I FdiE ¥ IR o
e siftrma e = g s e o =en
27

(a) FEeqfa @
(c) THT

(by iR W
dd) HTE 9
sfea & Treafa Ses 299 A IT s
F Yo frm S A 12 5@ 2018 7 a2

# gerrna ) 7
(@) WafmId  «6) TR
(c) TEmg#A «(d) wur§dvs A
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25. Match List — 1 with List — Il and select | 125, g=ft — | =) g= — I & gafera Fifse | 9
:\e correct answer from the codes given e 21 § Gl 39 =1 =937 Fif |
elow.
;L#} = q'v?ﬁ -1l
List —1 List—1I £ > 373?
(Samudra Gupta’s (Their Kingdoms) (= \5 J ( )
Contemporary Kings + ””a;.'i I 7%eT)
of South India) A. g959 1. 9™
A. Dhananjaya 1. Avamukia B. o= 2. Hdl
B. Nilaraja 2. Kanchi C. U3 3.1 AL
E Ugrasena 3. Kusthalpura D f‘atr{[rme 4. UTsgghl
D. Vishnugopa 4 Palaka
Code e A g4 b
SN C D X
(a) HENGE 3 Z @ T33P
(b) ~d VA 4 3 (b) s Ty 4 3
c) Bl 4 2 (© b4 2
) BESamlasi (d) 4 8 2. 1
126. Which of the following’centres related | 126. =3 3 Gy v e Sors -8 B2 _
t:ralgg:: ?Valley are situated n Utiar I TRy O fRa = ?
Select the correct answer from the ﬁm@ﬂﬁﬁiﬁmw it
codes given below : B ASE
|. Kalibanga 0. S .
Il. Lothal . srerfiege
. Alamgirpur V. ®eTE
IV. Hulas
Codes : R
@ 1, I, 1, v (@ L1, v
(b) 1L N (b) L 1~
(c) I, M (c) N, =
(d) I, v Hd) I, v
127. Which of the following institutions | f27) = & -t wea feh s 2 weift
belonged to foreign trade ? ot ? Szt
(a) Sreni (b) Nagaram (a)- Sofy ®)
c) Nanadesis d) Mani R
(c) (d) nigrama () TR )
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128.

129,

130,

Given below are two Statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.

Reason (R) : The early chisti sufis were
fond of musical assemblies called.
‘sama’.

Select the correct answer from the
codes given below :

Codes :

(agmiBoth (A} and (8) are true and (R)
is the carrect exnlanation of (A).
Both (A) and () are true, but (H) is
notthe correct explanation of (A}
(A)is true, but (RYisfalse.

(A)is false, buf{Rjiasatrue.

(B

(c)
(d)

Which of the following inscriptions gives
the information about two Ashwamedha
Yajnas perfonmed by the King Pushyamitra
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(c) Ayodhya inscription

(d) Hathigumpha inscription

The term ‘chakla’ has been used in
Medieval Indian History SOUrces: Vhis
was
(a)
(b)
(c)

Identical to Paragnah
\dentical to Sarkar
Territorial unit be
and Paragnah, but not id
Sarkar

None of the above

entical to

(d)

-25-
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130.

128.
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= 2 aa Bu e € | um T (A) a9
ZHL 1 ST (R) 81 T 8 |

THeA (A) : eI 8 Hiita 9 g § foat
TS 3T g = HRE! H§ 7gae A |
&HROT (R) : JIRfas o= af 5q 59
= f2u =521 3 | O 39 1 9949 i |
T
fa) FaH A) a8 FEg{R) =11 SEt § aur
FNOT R e (AyEf) T =TT R
e (A) AT HEI{R) ST FEl & g
=0 (R HI (A T gt 2 |
we (&) @R, Beg e (R) Teia & |
F (A) TTea =, g v (R) @8 '

(b)

(c}
{cd)
i Y & v an bl s
a1 3 SgeE Fa e mMadr 8 7
(a)
+(bB)
(c)
(d)

T oA

HEIE, A

s @

QETFTSH T YA & Ulaeiias aral 8 S=heil
182 =1 9GT g3 R | 9%

(a) 9O %6 gurEel o

(b) HEHW H TWHTATET =

(c) ga=1 3z 9o & 49 9 a0y drd
1, Sifess SRR 3 | =6 o )

(d) Igfeitaaa 3 @ =18 Wt =1
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131. The Maratha claim of revenue for | 131.
protection is known by what name ?
(a) Sardesh Mukhi (b) Chauth
(c) Abwab (d) Jamadani
132. The mosque-the Khayr-ul-manzil ¥132.
opposite to the Purana Qila in Delhi was
constituted by whom ?
(a) Hamida Banu Begum
(b) Salima Sultan
(c) Jiji Anga
(d) Maham Anaga
133. Which of the following pairs is NOT | 133.
correctiy matched ?
ciace Leadership
(@Y " Sambhalptr Surender Sahi
(B) Ganjam Radhakrishfia '
Dandsena
(& Kashmir Gulab Singh
(V" Lucknow Livaqat Ali
134. WHIChH of the following pairs is NOT | 124
correctly matched ?
State Ruler
(a) Devgiri Shankar Dev
(b) Warangai HRamchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya
135. Arrange the following into chronological | 135.
order and select the correct answer | —
from the codes given below :
A. Muhammad Shah
B. Jahandar Shah
C. Alamgir Il
D. Ahmadshah
Codes :
(a) A C D B
(b) B A D C
(c) C A B D
(d D B C A
A

| SO O M FE
gtmé:%t{ma’i%m%zréfa‘wﬁm
AT AT e 7
s(a) T@w gdt (b) ==
(c) T=ETE (d) STl
foeeht # que foven & amA @ S
e Hiteie =1 At e =am o ?
(a) wHtar & @™
(b) = Heae
(c) st 3
(¢f) TEF JFAM
Fefafaa g 9 oG gafca a2 7
= T
(@) FHEHL gt=t @@t
(b) TieITH W SUSEAT
(c) +wit e faw
(d) sE@"= forrea a=h
Frafaiaa g0 § = wdf gaRmsEdi 2 7 |
famas IRTE
(a) Zafd Yiwt 2a
(b) =FTH = 29
(c) ®raEs R Ao
(d) @gu R gossn :
ﬁw%rﬁaaaﬁmvgamﬁwaﬁ:‘wam
M A B 7 552 A v 39w w1 ww
wifaa |
A. HEmE IR
B. SEER IR
C. e n 14
D. 3E9az e
L T4
@ A C D B
(b) B A D C
(e) C A B D
«d) D B C A
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136. Which of the following States of India

\ 138.

139.

140

14y,

has the longest coastline 2
(a) Maharashtra

(p) Andhra Pradesh

(c) Kerala

(d) Gujarat

Wwhich of the following rivers ot
Uttar Pradesh has been declared a
‘Biological Disaster due to environmental
pollution ?

(a) Yamuna

(b) Gomau
(c) Sai

(d) Tamsa

In which of the following hills the worid
famous tempieroinkterd Venkatesiwar
(Twupati) is locaied 7
(ag-Shevaroy

(D) Biligiriranga
(G~avadhee

iq) Mallmalia

Rajasthan desert orgihar desert is the
expansé of which of the following 7
(a) Pliocene

(b) Paleocene .
(c) Pieistocene and recent deposits
(d) Oligocene

Which of the following rivers of Ir:::
does NOT originate from the Wes
Ghats ?

(a) Godavari

(b) Tapti/Tapi
(c) Kaveri

() Kabam

t of
The development of the concep
‘Global Village’ is based on
(a) Social developmer:m
(o) Political develop™ S
(c) Transport and Commun
Development

137.

138.

136.

GCTWY - 01

va & Fresfearfias o=t 9 3 e azran
gag =1 8 7

(a) HET=

(b) g W=

(c) =vicd

{(d) TsTd
I waw = Fefefaa g 3 s
e

«2) TFIHAT
(c) T3

AT

aHal

(b)
=5
Ara e wiaEE aeera (fasafa) = e
Frfefige yafsal & ey safeua 8 7
(@) Fraad fz

{8y, R
() =T=mEl (d) EE=ETET
139, TS HEEAE 319ET 9R feras Fefeataa
| e e 2 7
(a) TR
.(b) BfeETh=
(c) S Rees et TYEE R
(d) famEm
F40) wra = Poaferfaa afzal § @Y= ofvadh ae
T AadifAmad R 7
(a) == (b) @ /arh
(c) =& (d) =HuTH
141. ‘AfFEwmm’ B e W Bes smafa R
(a) wmETTaw AwE
(b) TwATaw Fwre
{c) "HEEa va "@an + A

s
(d) International organisation

-27-
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142. Which of the following countries has the | 142. fFrferfiaa 290 4 I'.”“,‘i afa W g
maximum production of milk per cow ? afaa arffes IaqE4 | '3”"1_35 %-\ !
(a) Netherlands (b) Great Britain (a) fervgE (b) Tz fare=
(c) Denmark (d) India (c) =HTh J(d) ¥
143. Which of the following districts of Uttar | 143. 2011 &l ST % HHE 3T 9391 &
Pradesh has the lowest female literacy fafefiaa sagel 3 o afegen @aa
rate as per 2011 census ? GG FHE 7
(a).Rampur (b) Balrampur {a) THYL (b) =ETHTT
(c) Shrawasti (d) Bahraich _ (c) #FEEd (d) ==THE
144. The Sultana, Gulabi and Kali Champa |(144. it s fafii= 431 8§ 3-mfEa gearmn, Tan=
vagetesin difiereniregions of Indiaare.|.- s reft 5 Fefefaa yga w0 5 8
;fai‘-eu-es of whigh.oiihe following majo: =+ & 27
MNuns £ .
(@} Custard Apple (b} Orange (2), T (&) paTr
(c} _Guava (d} Grapes c) HOED (d)" 3R
145. Which of the following States is the | 145. Frafeifga. =53 =3 forE=] = Tt
largest.prlog_uc‘c;zr of cardamom and = =7 Gad A2 I TS C 7
pepper in India 7 ;
(@) Tamil Nadu (b) Goa (a) AFTETATS (b) "=
(c) Kerala (d) Maharashtra «(c) F= (d) HERTZ
148. Matct;tUst—land List -1l and selectthe | 146. q;ﬁ;n A= - 1T fremm Hifse sk
correct answer using the codes given g & A= 23 m = IHT T3
below the list : a?ftﬁﬁm ES 85t e
List —1| List—1I HqA1 — 1 =it
States Highest Peak I =y 3,—;;} !‘ﬁa
A. Kerala 1. Dodda Betta A. FTH 1. 2y A=
B. Nagaland 2. Nand Devi B. AnTEive 2. m, >
C. Uttarakhand 3. Anai Mudi C. Iutavs e
D. Tamil Nadu 4. Saramati D m 3 gﬁ
Codes : :
A B C D o A B
@1 3 4 o2 (ay 14 c oo
T R 5 SIS T
© 3 4 2 1 B2 3 4 1
(d) 1 2 3 4
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147. Which of the following countries is the
leading producer of lodine in the world 2

(a) Japan (b) USA.
(c) Chile (d) China

148. According to 2011 census, which of the
following states has the lowest child
sex-ratio both in Rural and Urban areas 2
(a) Ufttar Pradesh
(b) Kerala
(c) Haryana
(d) Jammu and Kashmir

149. Agcerding to 2011 census, which.cithe
folowing states hias the largest. qusal
population ?
(a)) Madhya Pradesh
(k) Maharashtra
(c) Punjab
(d) Uttar Pradesh

150. Consider the following events.

1. First repliles
2. First insects
3. Shelled animals
4. First mammals.

n
Arrange the above events |

i n
Chronological order of their ongngwc;r
the earth and select the corrgcx an
from the codes given below :

Codes :
(a) 2
(b) 2
(c) 3
(d) 2

- - 0
Waad

1
3
2
4

149.

I
l
l
l
I

150.

(1 a 7

148.

GCTWY - 01

f'";‘f"—TfmFi 291 o Fa-a1 fava 1 AL
1 AV IEEE B 7
(a) S9F

(b)
(c) T=t

(d)

o 119 3R
=

2011 =+ s F Fgan, HGefatas
(@) 3ITL w29

(b) =+
(o) =Emn

(d) Si=pas Feri

201135 For & gan FefeRaa =
1 o g i S aaiaEs e 7
(@) H=q 929l

(b)Y HENTSZ

(c) T

Ad) Iunafigl

=1 geadl wr H=m A

1. 9Ea g4

2. gaail e

3‘ ?}‘—‘ =4 ":j ;1 3

4. TESA] AT
IUTTeR 921341 =ht gl 9t T IR B
FESHAHENR sqafeaa R aa 2 e
F2] 7 B G8) I 1 949 Hion)

C T

(a) 2 1 3 1
«b) 2 3 1 1
(c) 3 rd 1 B
(d) 2 4 1 3




